

11.

$$\sec(\sin^{-1}(u-3) + \tan^{-1}(u-5))$$

$$= \frac{1}{\cos(\underbrace{\sin^{-1}(u-3)}_A + \underbrace{\tan^{-1}(u-5)}_B)}$$

$$\boxed{\cos(A+B) = \cos A \cos B - \sin A \sin B}$$

$$= \frac{1}{\underbrace{\cos(\sin^{-1}(u-3))}_1 \underbrace{\cos(\tan^{-1}(u-5))}_2 - \underbrace{\sin(\sin^{-1}(u-3))}_3 \underbrace{\sin(\tan^{-1}(u-5))}_4}$$

$$= \frac{1}{\underbrace{\sqrt{1-(u-3)^2}}_1 \left(\underbrace{\frac{1}{\sqrt{1+(u-5)^2}}}_2 \right) - \underbrace{(u-3)}_3 \left(\underbrace{\frac{u-5}{\sqrt{1+(u-5)^2}}}_4 \right)}$$

$$= \frac{\sqrt{1+(u-5)^2}}{\sqrt{1-(u-3)^2} - (u-3)(u-5)}$$

① \downarrow
 $\cos(\sin^{-1}(u-3))$
 $P = \sin^{-1}(u-3)$
 $-1 \leq u-3 \leq 1$
 $2 \leq u \leq 4$
 $\sin P = \frac{u-3}{r}$

so $y = u-3$ $r = 1$

$$x^2 + y^2 = r^2$$

$$x^2 + (u-3)^2 = 1^2$$

$$x^2 = 1 - (u-3)^2$$

$$x = \sqrt{1 - (u-3)^2}$$

$$\cos = \frac{x}{r} = \frac{\sqrt{1 - (u-3)^2}}{1}$$

② \downarrow
 $\cos(\tan^{-1}(u-5))$
 $P = \tan^{-1}(u-5)$
 $\tan P = \frac{u-5}{r}$

so $y = u-5$ $x = 1$

$$r^2 = x^2 + y^2$$

$$r = \sqrt{1^2 + (u-5)^2}$$

$$r = \sqrt{1 + (u-5)^2}$$

$$\cos = \frac{x}{r} = \frac{1}{\sqrt{1 + (u-5)^2}}$$

④ \downarrow
 $\sin(\tan^{-1}(u-5))$

$$\sin = \frac{y}{r}$$

$$= \frac{u-5}{\sqrt{1 + (u-5)^2}}$$